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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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A separate OMR Answer sheet with carbon impression copy is provided to all candidates for answering. After completion of
the test, the carbon impression of the OMR Answer sheet will be detached and handed over to candidate by the invigilator

which should be carefully retained by the candidate for all future reference,
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Please see the last page of this booklet for rest of the instructions /

SHDD G0 HEDH Fow0fodd DR Sro¥es 955 LS E03) BIeBw.







gyl

>ro

Flrer TaeT HARETFaaR / SATISH DHAWAN SPACE CENTRE SHAR/
1" SEQ BT We Dowd b

SET

BT ‘A’ / FIREMAN ‘A’ / 35508 ‘A’

Sief U 319 g STerd! © o1 98 H SEerdi 21

(a) g
(€ g

When a solid matter burns it turns into
(&) Gas

(¢) fumes

dﬁq)qf, 5mgm 235900 CEN Arddn?
(a) Al

(c) &rXen

24.5 9 19.052 <kl 51214
Subtract 19.052 from 24.5

24.5 {006 19.052 o HVIafokon

(a) 5.382
(© 5.458

UNESCO & qeamer el @
(a) Sard
() THH

Where is the Headquarters of UNESCO?
(a} Geneva
(¢) Rome

UNESCO A300Y); DR svmasedi)o DERpIALLItY
(a) B>

() &

(b)
(d)

(b)
(d)

(b
(d)

(b)
(d)

)
(D

(b)
(d)

(b)
(d)

Ty
wed ()

Vapour
Ash

ARSIV

BIT°GLS

5.448
5.648

iRt

Tokyo

Paris
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31 ey ieft et o 1 §

(a) Th-gd=lUe

(b) € T T e TR B

(c) oot o fory = oot mifesi @ o1mt Frerer 3 fore o sreetn € =Ry
(@ 3ulRe o @ g T

Two Solid Yellow lines means

(a) One-Way Road

(b) Can change lane with caution

(¢) Shouldn’t cross these lines to overtake or make a U-turn
{d) None of the Above

DO )6 DD Byeo e
() 9% 8% 5w
(b)  HIgH0R0 PGS’ rEsHyyd

(©)  eK0WMNE B 0Ieed) BE M%) F1 DO T

() 25 2F7,209 285%Y

EEACEO R R g

(a) W T (by 39 s

© TiRsga @) TS

Cooking gas consists of

(a) Methane and ethane (b) Ethane and propane
(¢} Propane and butane (d) Butane and pentane
Hobd ﬁ°§5 —— 0 ¥R &0,

(a) 0B HBatw Edo (b) S4B 8k [rad
€ ([@rnd 08050 2Edd (d) 20858 B8k VoSS

4 Post Code No. 17




Tdler aaT AN [ SATISH DHAWAN SPACE CENTRE SHAR/

/‘ SET

\/éF ‘S"S £
A N SBD ST W Doed b

EREN ‘A’ / FIREMAN ‘A’ / 26505 ‘A’

EVM forar & fafaw)

(a) Electrical Vending Machine (b) Electronic Vending Machine
(¢) Electrical Voting Machine (d) Electronic Voting Machine
Expand EVM.

(a) Electrical Vending Machine (b) Hlectronic Vending Machine
(¢} Electrical Voting Machine - (d) Electronic Voting Machine
EVM %o 228580000

(a) Electrical Vending Machine (by Electronic Vending Machine
{c) - Hlectrical Voting Machine (d}y Electronic Voting Machine

1 S SYHISEH T Tellel = mm Hg

1 Bar atmospheric pressure = —— - mm Hg?

1 Bar P88 a&dHn = ————— mm Hg?

(a) 750 (b)y 755

(c) 760 (d) 770

TS 3 9 A, A et e v el 87
(a) 365T6= ) 365TFs59
(¢) 365f= (d) 365TT8=

How much time does it take for earth to rotate around the sun?

(a}) 365 days 6 hrs (b) 365 days 5 hrs

(c) 365 days (d) 365 days 8 hrs
K}J“’éi)?sﬁ) ;’)ng; SELK 87708 Jodh HoaHHw 5&%33)?

(a) 365 &%ren 6 Kotoen (b) 365 §'ereny 5 Hosoew

(c) 365 Seren (d) 365 'aren 8 Kotoew

5 Post Code No. 17




T Yo AafeTheaR ISATISH DHAWAN SPACE CENTRE SHAR/

,‘ SET

A N DD FFW R Wowd b
15ro

BRITHT ‘A’ I FIREMAN ‘A’ / 26505 ‘A’ -

9. T A -, ged soh g B7
(a) TgeA by Fiferm
(¢) A (d) woTETy

Which of the following is the lightest gas?

(a) Hydrogen () Helium
(¢) Nitrogen (d) Oxygen
Bods 872D 305" edBIZH TS0 IB?

(2 P&=S b Erdatro

(©) PeSed d)  eded

10. sHAH-T ARy AR
(a) i ®) Fra
(c) 3 (d) I Gt

Which of the following is an Inert gas?
(a) Helium (b) Neon
(c) Argon (d) All of the above

8Os DEDD TRS® IB eté TPO0Y?

(a) SrdchHo )  Do5S

&J:

© ez @

&u

3" bﬁ)r‘f)éﬁ)&

P
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U TV Behior, Rk oer § 3 om sty 4 cm, IHHT STFet &
(a) 12 cm? (b) 6cm
()  6cm? (d) 12em

Area of the right angled Triangle whose sides are 3 cm and 4 cm is

(a) 12 cm? (b) 6cm

{©)  6cm? (d) 12cm

3 0.0 H08a%w 4 o5y Fomdwen ¥9RS ooz (Bg$resh00 Bk, E;'J_Fsvej?sa’m
@) 12 po.&° ®) 6205

© Body @ 12 0.5

T R 1 o % R (x4 4 9) 3 e, o o =) Siver s iR
Which of the following term should be added to (x4 + 9) to make a perfect square :

28 S8 S8 BOTEHIh [t - 9) £ & SesereBng 38 SB207
£l n r.)

(8) 3«7 (b)  B8x2
() —3x? (dy -16x2

Th 19 deht 1 27,oooaﬂawmwmm%|z’a?r%waﬁam§, Hiet 4 var e -

(@ 30m (b) 90m
© 3m d 9m

A cubical tank can hold 27,000 litres of water. Find the length tank side in meters
(8 30m (by 90m
{© 3m (d 9m

&8 VTS RAEG 27,000 deos HeBo S8R oty VEEG es DEID RS KR

(& 30& (b) 90 5
© 38 (dy 9%
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14. fdva felt s = el el
(a) HE (b)
() 9 (d)
Second degree burns result Into
(a) Wound (b)
(¢) Suffocation (d)
Bod Bed 50O mafD0e ¥ teBHOID.
(a) 1O (b)
© =S 08 a0 (d)
15. frerfaied § & Rrewre amf 9 v
(a) TNT (b)
(© W | @
Identify explosive substance among the following:
(ay TNT (b)
(¢c) Petrol {d)
Bos 1B, TRE® DS STrEHT0 ERR"RD0.
(@) TNT (b)
@ 'S (d)

Redness

Blisters

DBEHHN

AN o0

forea A

Silver Nitrate
Diesel

2058 ES
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17.

(a)  HaTERTS § fafSte dar & R
() Wt # ffye veri & fau

Arjuna Award is given for
(a) ‘Exceptional service in emergency

(¢) Outstanding performance in sports

BN DHI,BH00 BD T8 RHcecais:
(@)  eBgNy 58%@6‘ SOPGSEY S

© Esos® o350 e

T O RT-H a7
()  srqgfe

e

() i

Which one of the following is an element?
(a) Alumina

(c) Graphite

8ocs DE R TRS® DB 2.8 SareEsn

(a) U@J”§3).)Ef)

© pes

(b)

(d)

(b)
(d)

®)

(D

(b)
(d

(b)
(d)

(b)
(d)

Ty o =fiven % fer
Fiug! H el # fafie a1 % forg

Bravery on battlefield

Exceptional service in slum dwellers

AT T

30088 e [HSeseds® edvgere 29

Brass

Silicon

'aé_‘g&
20525
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18.

19.

20.

e 8 |, 5 3 IS AT a1 TEE

(a) 37°C (b) 98°F
ey 310°K () IR At

Find out body temperature of the human being in the following.
(ay 37°C (b)y 98°F
¢y 310°K (&) All the above

Bo& HEYRD TRS” HIHDR FOY EPTBD SRR,
(@ 37°C () 98°F
(¢ 310°K (d) POEODY

20 T /9T ke = e = 6. i /uftr =2 § e i
Express the speed of 20 m/sec in Km/hr
20 5o/ 708 DK .05/ Koewod’® Beoddn

(a) 66 by 72
o 77 (d) 69

e ‘1T Tareti w7 Ty TR S 8 ¢
(a) 14308@ (b) 4T
(¢ 47 @ 22w

When is the Fire services day observed?

(a) 14th April (b) 4t April
(c) 4% March ’ (d) 22vd March
RSy 385500 DD S8KBotut?

(2) 145 DS b 435S

(© 45378y (@) 22 508)
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“A- v BE: 5.6 o
?3314% NAL ST Q0 Dol 6
BRIGHT ‘A’ / FIREMAN ‘A’ / 20508 ‘A
UTVTSTY =T STTfoeres e 2
Atomic number of Oxygen is
es8yess Aog); H5EB8Te Bogs
(a) 6 by 8
(¢} 10 (d) 16

Bl o1 s W, WA et e wivsre i A 27
On earth surface about how much percentage of Water Ocean holds?

gm0 &38%eBL 2 D08 J20BD) DS wBS0 & 8?2

(a) 6% b 97%

© 0.06% @ 0.02%
Yeelt o e sigr wrn R

() Ul (b) IFEEEE
(¢) STerhfaw (d) onfefes

Largest Ocean on the Earth is
(a) Pacific : (b) Atlantic
(¢} Antarctic (d) Arctic

(@)  JdSE (b)  eeroe3§

(©  ©oer)e38 (d) 8,638
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24. Seetha asgked Geetha, not to meddle in her affairs. The synonym of the word “meddle” 1is

(a) Interfere (b)y Impose

{¢y Care (d) Cross

25. What is the synonym of “Destruction”?

(a) Restoration () Renovation

(¢) Replacement (d) Ruin

26. “The king gave him a reward”..... Convert the sentence into passive voice.

(a) Areward was given by him to the king
(b) He wasgivena reward by a king
(¢) Hewasgivena reward by the king

(1) He was given by the king a reward
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27.  LPG % 7 & forg forg i 1 freran siar 27
() e (b) et Tepfodg
© H,S @ SO,

28.

29.

Which gas is added to I.PG for smell?

(a) Methane (b)  Ethyl Mercaptan
(© H8 (d SO0,

TR §°6% LPG & £9E wratang) D87

(@) 2B )  spS WEEHS
© HS (d) SO0,
123°C i feeq o uftafda Fifsg

Convert 123°C into Kelvin (K)

123° % »38556%08 Breiyyso
(@ 486K - (b) 369K

© 396K | @ 693K

f@nwwa‘aﬁammw@m%,ﬁumwwm
(a) wedg (b) wEeaT?
(¢) weAI-sEars (d) TAFEaR

As the volume of confined gas decreases at constant temperature, the pressure exerted by the
gas

(@) Increases (b) Decreases
(c) Fluctuates (d) Remains the same

FIWD EPNG 5 DE10PoBBAS TP Bk, 5B BRD, TA0D) DR D DeEsHn
(8) &K (b) EBoso

(€) dosEm docdo (d) &8 9650 sochdo
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30. ISRO =9 &9 forfau)

(a) Indian Sport Research Organisation () Indian Sea Research Organisation
(¢) Indian Space Research Organisation (d) Indian Safety Research Organisation
Expand ISRO

(a) Indian Sport Research Organisation (b) Indian Sea Research Organisation
(¢} Indian Space Research Organisation () Indian Safety Research Organisation

ISRO 5 Bo%050

(a) Indian Sport Research Organisation (b) Indian Sea Research QOrganisation

() Indian Space Research Organisation (d) Indian Safety Research Organisation

31. %ﬁ%ﬁ%a@ﬂ@?ﬁﬂﬁﬁ)%uﬁﬁﬁmﬁ%ﬁﬁaﬁlﬁﬂﬁ@ﬁmm%ﬂﬁﬁmw%?
(a) TRt <= (b) TAHHA
© @ (@) e

Who has made history recently by winning maximum number of medals in the world women
boxing competition?

(a) Pinki Jangra (b) Marry Kom
(¢) Sadie (d) Kavita Chahal

5505 So2rer Sog abog MBS KB Boags® DB E0ED BaN0D adde JBED PO

DHBI?
() Dof eroyw by DB
© & @ gome oS
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32, HUH 20 A AT WA 1 i vl SISy

33.

34.

Find the sum of first 20 Even natural Numbers
03 20 BBy Dves Pogse dBo

(2) 400 (b) 420
(¢ 210 (d) 460

TTH 8 B9 99T IR 3qm 27
(a) INSAT 1A () 1IRS
(c) omivg (@) IRNSS

Which of the following is the First Indian Satellite?
(a) INSAT 1A (b) IRS
(¢) Aryabatta (d) IRNSS

808 205 T0S” DB (56530 erEdcss GSPETH0?

(a) INSAT 1A . (b) IRS

(© ety (d) IRNSS
HTET 1 Godl ST &7 &

(a) =T (b) ®u

(¢ Twise (d) <FEE

The hardest form of carbon is

(a) Coke (b) Diamond
(¢}  QGraphite (d) Charcoal
50500 By, GYGEBS SrSHw

(a) s"d)aS“Kg (b)  Dessw
(©) Lﬁ"';.zés (dy &%)
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SET

35. Trferiaa § & goh o R FEd 87
(a) T 1 S ST
()  CO, ™ 3" S
(©) IS i B AT
(@) Eiferad 3/ SHIEE

Which of the following called Dry ice?
(a) Frozen solid form of Water
(b) Frozen solid form of CO,

(¢) Frozen solid form of Nitrogen

(d) Frozen solid form of Helium

g 9003 8D HEVFL?

(a) Ded DLy WS ?86@565“:3}533

Bo8 72S” DD e

(b} svesas & &95)& Bk, dErsd Egééngdm’ama
(@ DS S ook, oIS REHLETIN0

@) Zrdano BnE), DoVPTE QEBLET T
) {OS

36. q@%wﬁ,yﬁﬁﬁm,ﬁm—m%ﬁ%

(a) HET-EE-EAEE . (b) A

© @™ @ e

Which of the following is not a Green house gas in earth’s atmosphere?
(a) Carbon dioxide (b) Methane

(¢) Water vapour (d) Helium

5 Gk, TEHERNS® Bot8 HEDO THE’ 0B 2.8 B Ky DAY TRB?

(@) S8 EHs (b) B0
©) D& gy (d) erdabo
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38.

39.

(a) ST fag (b) I YT

(c) I ATy (d)  SoaET dew

Minimum temperature at which vapours of liquid ignite is called
(a) Flash point (b)  Flash light
{¢) Flash vapour (d) Flash bulb

B2 grpinne agoRin @Y, S5 B BEY DORDEIE?
(a) %Y SoEdw (b) DD srod

(€ 0ty gdydo (d) Y awvEK

1 atm S99 T, G 3 3efer 61 g 2
At 1 atm pressure, the boiling point of Water is

1 Sreristien e6i5i500 568 D3 Bar¥), Boeaord> Bopesa

(a) —100°C (b)  100°C
(@ 0°C (d 212°C
et 3h SRHvEe H WTvTETy S Sfierd Rea 27

What is the percentage of Oxygen in the earth’s atmosphere?
2720 DoY), TE SSRGS’ edyaS Brk), TE300B?
(a) 16% (b) 20.9%

{c) 23% (d) 18.9%

17
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40.

41.

ELNino (Tt =) @ 87

(a) U T AR €T @

(¢) THEEBAET

What is ELNino?

(a) a warm ocean current
(¢) aname of typhoon
ELNino (06 95%) e0dne 29a7?
(2) DD R0 PFadrDn

© ¥ goed D&

e W IR, e ST = iR, l
(a) ARSI T
{c) Ersiea

The right of way should be given to
(a) Emergency Vehicles

(¢) DBuses
Bo0oioEd Py DIPEo D38 AIEHB?
(a) eﬂ@"?sé‘éég TR

(¢) edne

18

(b)
(d)

(b)
(d)

(b)

(D

(b)
(d

(b)
(d)

(b)

(d)

A THE 8
FORERER] SIS

sea storm

tropical disturbance

DHNE B

e‘%mocse) Eorth

oferer B R Y
3wt 61 R

Police Vehicles

Two Wheelers

BDHE ToRER0e)

Post Code No. 17



43.

44,

AT &rger JHaferdzanr 4 SATISH DHAWAN SPACE CE
FEQ 838 1B 2o 26

afy 4% =36 A p-*+6 %,ﬁNBWWWW

x* 49 x+7

2
If 4= 296 4 pox+6 then find the value of A/,
x°—-49 x+7

2
A=F 7 o BoXt6 O Tt A/B @08, 965> S0f o5,
B Uy
x*—-49 x+7
o = o =
x—06 x-—-6
d i
© x+7 @ x-7

2aﬁﬁaﬂT3§v‘ﬁfﬁﬂw‘rE{WR& 3,500/~%3ﬂx33a3ﬂ12§&iﬁ?ﬂamfts. 4,000/- 8, Tt 572 %7 =g ya

The cost of 2 benches and 3 chairs is Rg. 3,500/- and cost of 3 benches and 2 chairs is
Rs. 4,000/ Then, find out the cost of 1 bench?

2 Boden, 3 Hiye @B0Y), B0 &, 3,500/ 50805 3 Boden, 2 Hbye Do), Do &, 4,000/~
Q0NN Gcte 1 Boo B, IO KR8,

(@) 1,200 ) 1,100

(© 1,000 (d) 1,020
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45. ﬁ%ﬁﬁ@,mm,wﬁﬁ%@m%aﬁﬁ%mmm?
(a) e SaTRiE € ) e fes
(@ A, R e @ e, Tear d e ¥

Which of the following is the reason for filling Balloons with Helium instead of Hydrogen?
(a) Hydrogen is inflamm able (o) Hydrogen is Toxic
(¢) Helium is lighter than Hydrogen (d) Hydrogen sweeps through Balloon

200 S0t ateor” 2 EuSE poRpess o8 557,00 RS 2B SEENN7

() IpETaS SrRend ©) rEwed DRTTBERNG
(€ OO0 Ees gy BITH0 @ s oS T DA FD

46. GEd B ST G 87
What is the smallest Prime number?
é@é’}i&p_}é BIGER D0Y 587

(a 1 (b) 3
© 2 (@ 11

47. x°-16 — O 7T ST U TIRG
Tind the roots of x> -16=0
o 16 =0 ook, HIBITODVR ER0RTH0D0.

(a) +4,-4 | o) 4,4
() —-4-4 (d) 16,4
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50.

AT traey mﬁaﬂ'&'{?ﬂ'\’ !/ SATISH DHAWAN SPACE CENTRE SHAR/
SR ST 295 D05 26

IR ‘A’ ! FIREMAN ‘A’ / RIS
SRR Sy <6 ey 7 m 3R F=d 10 m 2, SHeHT TR 2
(@ 1540 m? (b) 154 m3
(©) 154 m?2 (d) 1540 ms3
Volume of the Cylindrical Tank whose Radius 7 m ang Height 10 m is
(a) 1540 m2 (b) 154 ms
© 154 m? (d) 1540 m?

() 154 & (d) 1540 &

T s (frferey) @I%aﬁwﬁﬁwaﬁ?ﬁrﬁ%, b viggatl 3 et & Referoet s

A cylinder and a cone have the same radius and height, how many cones of water will it take
to fill the cylinder?

¥ XD;A’)Z&J.) S0B050 2.8 Bogy 28 DER ;Fesévg‘oﬁa)eu, JBOOK Se‘)ﬁotil)ff)olé{). é)gé.’):ﬁm?ﬁ) QOYHeotHd )
BO0O DiH BBDED0KR07

(@) 1 by 2
© 3 (& 4

(a) 3 units (b) 5 units
(©) 7 units (d) 10 units

The area of rectangle whose length is 5 units more than twice its width is 75 Sq. units. What
18 its width?

(8) 3 units (b) 5 units
() 7 units (d) 10 units

75 B85 CRRe. T30 Deseny dos?
() 3 O~ (b) 5 0°Re
© 7 cfrpey : (d) 10 0frRe)
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== T ¥ fre e / Space for rough work | 289 908 Yodn
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Each objective question is provided with a text and/or figures with multiple answer choices (a), (b), (c) and (d), out of
which, only one of them is correct.
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Read the instructions on the OMR Answer sheet carefully. Use only Blue or Black Ball Point Pen for writing on
OMR Answer sheet and marking your answers.
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There are 50 Multiple Choice Questions (MCQ). All objective type questions catry equal marks of THREE for a
correct answer, ZERO for no answer and MINUS ONE for a wrong answer. Multiple answers for a guestion will be
regarded as a wrong answer
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Question booklets have been marked with A or Bor C or B or E on the right hand top comer, which is mandatory to be

written on the OMR Answer sheet in the box and bubble appropriately, failing which the OMR Answer sheet will not
be evaluated.
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Space available in the booklet could be used for rough work, if required. No separaie sheet will be provided.
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At the end of the Written test, Call Letter and Original OMR Answer Sheet shall be returned to the invigilator
and shall not be carried by the candidate under any circumstances.
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In case of any discrepancy in any question between the language versions, English version will prevail.
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